: *3 [l Sl (- 7)

y
e i
7//7 = ;./iﬂ,.l#/wlj‘
_ 246 b e (o ce7oftt) = 163 pon it
_@H L) = '-7.25’1-;52;#

popsot x 195~ = 2100 A
o e , /f

J t(laa/ll’"! /'/‘/% X '__%7‘“; e

.z
197 .
%78 et o~
4 e &
10 ~ . ;
o103 ] 7% (wouﬂ - \\{%
AL 11 @
ant 7 . R o
.,’b\$ ‘ aOH = /,gﬁ'/h‘ﬂw
e bop. Pt —
o 5‘,(,
2
¢ ati ptl 7"1@Wt5pa'
e (”’M?‘)

QM@L’ soo' bk
s}ffby @1 165 o 145’ (25

) /Q'PFIQ.’/"”: 4»7(]

S Fll 5,53”'2'4{'—7,’2,.«,-«14-« ,f-zf’lrf 18,3 -7 A -
M * Catf‘l\’)‘ + b amy ) ;5(&,4/;«/}//(509,#/30')
gu—oé,“&‘{@ lbl/Z;O(




